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COMMERCE
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Full Marks : 30 Time : 14 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any five questions: 2x5=10
- #A1ofs Qe Ted w6 ¢
1)  Prove that log(4+16+80)=log2+log5+logl0
g ¥ @, log(4+16+80)=log2+log5+logl0

ii) If 22 — 16", then find the value of x.

T 22 — 167 =W, OF x4 AW ef7 91
ii1)) Find the middle terms of the progression:

gsifolba sp-m-a3 el <:

1+5+9+.......... +101

[Turn over]

1v) Find the sum of the series:

@iaie el 4

v)  Find median of the numbers :

g Ryl sl el

15, 35, 43, 49, 50, 50, 71, 80, 85, 35, 43, 48
vi) Define frequency curve

AP @R K] mie |
vii) Find the value :

) \/l+ ax—\/l—ax
lim

x—0 X

viii) Find the present value of an immediate annuity
of Rs.10,000 payable for 7 years at 4.9% p.a.

compound interest.

R 4.9% barqia 2 JW 7 T2 &G 0= 10,000

DIl efops AR IO el e 51 |
2. Answer any two questions: 5x2=10
@I 76 &eE O wie 2
dx

1) Find E where " +¢¥ = 2xy .
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iii)
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dx
d_y el 59, @A &'+ =2y |

Write five geometric means between 9 and
527.

9 @2 527 A3 W Sl weedw NG @12 |

A sum of money invested at compound interest
amounts (principal plus compound interest) to
Rs.2704 at the end of second year and to
Rs.2812.16 at the end of third year. Find the

rate of interest per cent per annum.

bEFJIECS (e S T (I BRI @SR AT
I 2704 Bl 93 ORI ITIT (¥IT 2812.16
BIsl 3561 barqian 291 | 07 IS *Iodval 2 foefd
4

n-th term of an Arithmetic Progression (A.P.)
1s 7n-5; find the sum of the first 20 terms of
this A.P.

G TAEF A5feF n-oF 2w (7n—3), ©F «F 0
A @IS ¥l 4 |

If log b =10 and log, , 32b = 5, find the value
of 'a®> + 2'.

W log, b = 10 @R log, , 32b = 5 &, O
'@ + 2' i T 9|
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3. Answer any one question:

10x1=10

@-(FIE @B Ara Ted nie ¢

i)
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a)

b)

b)

What do you understand by a scatter
diagram? How is the type of correlation
determined by scatter diagram? Define
Spearman's rank correlation coefficient.
1+3+2

et og weice & @Rie e Ko
PRIl ST @i TRelicEe kel wie |
Explain the terms 'Skewness' and
'Kurtosis'. 2+2
AfStaTsy @ Srwpel =% it W F4|
Define range, quartile deviation, mean
deviation and standard deviation. 4
kel wie: epTi, bl [pfe, 91w fpfe wa
e fRpfe |

Find the value of range, quartile deviation,

mean deviation (about median) and
standard deviation from the following
data: 6
BT O (AT 2P, Hgds s, s f[pfe
(SR AMACF) @R T [pfe o s
24, 35, 51, 65, 78, 106, 129
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111) a) Define mode and median. 3
TER qIE: LT 6 FRANSE |

b)  There are two missing frequencies in the
following frequency distribution table. If
the median and mode are respectively 25
units and 24 units, find the missing

frequencies. 7

fefefe G ub @dieir sk
e SR | AW [ @ FAFE el TP
2 OFF G 38 OFF W, OFE TG
slfranefe e <4

Class interval | 0-10 | 10-20 | 20-30/30-40 | 40-50
EAIfee!
Frequency 14 - 27 - 15

o{fzea
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